FER  FRr31401 5208

RUR)—hvyT AUSR

=" 2 29VAMI WIH37° 5 FU0 3-R

g5z K ouT IN GR HDCP NET =

B EFE H# 4 40 81 10.0 71.0

#E A EE 43 47 90 19.0 71.0
3 | TFH &I 52 53 105 33.0 72.0
4 |BER X¥ 44 40 84 10.0 74.0
5 B[R & 43 4 84 10.0 74.0
6 |RER A 44 43 87 13.0 74.0
1 |—t5 Al 39 36 15 0.0 15.0
8 |H RE 45 41 86 10.0 76.0
9 |FFHE B2 45 44 89 12.0 11.0
10 | % 39 42 81 3.0 78.0
1| TH &3 44 39 83 5.0 18.0
12 |H# BBH 40 46 86 8.0 78.0
13 |#8E —F 43 42 85 6.0 79.0
14 @& = 47 40 87 8.0 79.0
15 |BEXk =& 43 45 88 9.0 79.0
16 |BER X 48 43 91 12.0 79.0
17 BT Ez 45 47 92 10.0 82.0
18 |l Ex 49 52 101 19.0 82.0
19 |#EH RZ 48 48 96 13.0 83.0
20 |EA EH 47 49 96 13.0 83.0
21 E4<K EEH 56 49 105 21.0 84.0
22 |BE Bk 57 54 111 25.0 86.0
23 |lj % 48 49 97 10.0 87.0
24 R B 55 47 102 10.0 92.0
25 | BN E-— 59 54 113 19.0 94.0
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FER  FRr31401 5208

RUR)—hvyT BYIR

=" 2 29VAMI WIH37° 5 FU0 3-R

g5z K % ouT IN GR HDCP NET =
2 |FB =5 45 49 94 31.0 63.0
#EB KE =9 39 39 18 1.0 71.0
3 |FHET B 40 39 19 6.0 73.0
4 |BERE R 49 47 96 23.0 73.0
5 |FKX = 38 4 19 5.0 74.0
6 |BEA ®Z 45 49 94 20.0 74.0
7 |#lh EA 45 42 87 11.0 76.0
8 |HEH #BE 44 45 89 13.0 76.0
9 |BEKX XF 46 48 94 18.0 76.0
10 |#E KRXER 44 39 83 6.0 71.0
1 s A8 48 40 88 10.0 78.0
12 |fE<K % 52 48 100 21.0 79.0
13 |HHE —HB 45 42 87 5.0 82.0
14 lLE #H 45 43 88 6.0 82.0
15 |HR &= 46 47 93 11.0 82.0
16 Rk M 49 47 96 14.0 82.0
17 X f 57 57 114 32.0 82.0
18 | &= 50 40 90 1.0 83.0
19 |®F BT 46 51 97 13.0 84.0
20 [ERK FEF 48 47 95 9.0 86.0
21 | FH ERF 48 51 99 13.0 86.0
22 |HhE &AL 55 49 104 16.0 88.0
23 |k —H 49 50 99 10.0 89.0
24 |B% =M 47 56 103 12.0 91.0
OPEN |f% A 48 44 92
BE fEX 50 49 99
] e 48 51 99
KIF BF 56 58 114
GUEST |&H& &% 49 49 98
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